Raja-arvo äärettömyydessä

	1.
	[image: ]


	2.
	[image: ]


	3.
	[image: ]


	4.
	[image: ]


	5.
	[image: ]


	6.
	[image: ]


	7.
	Laske
[image: ]




image7.png




image1.png
a) lim
x

4x
e 1=2x

b)

P

3x2-7

6x




image2.png
Miritd raja-arvo.

2 2
a) lim sz 3x b) lim 5x%+2x
4x° X=X





image3.png
Mdriti raja-arvo.

1 K
o 8Ux —1
3
o) lim x o) lim e




image4.png
Miiritd raja-arvo.
a) lim L b) lim 3228
Jm s Jim =%




image5.png
Laske raja-arvo.

) lim (5x°—x2) b lim (9x—x%)
st |




image6.png
Laske.
o lim @7V 0 Xug;f;&ﬁ




